
Thompson Rivers (0-1) -vs- Trinity Western (1-0)
10/10/2014 at Langley, BC (LEC)

 
 

 
Thompson Rivers (0-1)

 
 
Trinity Western (1-0)

 
 

Site: Langley, BC (LEC)
Date: 10/10/2014   Attendance: 350   Time: 8:00 pm   
Officials:

Set Scores 1 2 3 4
Thompson Rivers (1) 25 16 19 21
Trinity Western (3) 17 25 25 25

Attack Set Serve Block Defense Rec
# Player SP K E TA PCT A E SA SE BS BA BE DIG BHE RE PTS
1 Graham Stoliker 4 2 1 3 .333 43 0 0 1 0 1 0 10 0 0 2.5
4 Daniel Eikeland Rod 4 7 3 18 .222 0 0 0 0 0 4 0 1 0 0 9.0
5 Brad Gunter 4 25 12 53 .245 1 1 2 5 0 1 0 9 0 1 27.5
9 Stuart Richey 4 5 4 15 .067 1 0 0 2 0 0 0 12 0 0 5.0
10 Randy Grundmann 4 7 5 15 .133 0 0 1 2 1 0 0 6 0 3 9.0
12 Blake Majcher 4 0 0 0 .000 0 0 0 0 0 0 0 2 0 1 0.0
7 Brandon Hewwing 3 1 0 2 .500 0 0 0 1 0 2 0 3 0 1 2.0
11 Matt Krueger 3 0 0 0 .000 0 0 0 0 0 0 0 1 0 0 0.0
14 Nic Balazs 3 2 0 6 .333 2 0 0 0 0 0 0 1 0 0 2.0
8 Jordan Foot 2 1 0 3 .333 0 0 0 1 0 0 0 0 0 0 1.0
15 Isaac Smit 2 0 0 1 .000 0 0 0 0 0 0 0 1 0 0 0.0
16 Denham O'Reilly 2 0 0 0 .000 2 0 0 1 0 0 0 1 0 0 0.0

Totals 39 50 25 116 .216 49 1 3 13 1 8 0 47 0 6 58.0

Set K E TA %
1 15 6 29 .310
2 9 3 26 .231
3 12 7 28 .179
4 14 9 33 .152

50 25 116 .216

Attack Set Serve Block Defense Rec
# Player SP K E TA PCT A E SA SE BS BA BE DIG BHE RE PTS
1 Tyler Koslowsky 4 0 0 0 .000 2 1 0 0 0 0 0 6 0 1 0.0
2 Carter Bergen 4 1 0 1 1.000 0 0 0 1 0 1 0 0 0 1 1.5
4 Blake Scheerhoorn 4 14 6 39 .205 0 0 0 2 0 3 0 4 0 0 15.5
10 Ryan Sclater 4 9 5 27 .148 0 0 2 0 0 2 0 9 0 0 12.0
11 Daniel Grant 4 7 1 12 .500 1 0 0 1 0 7 0 3 0 0 10.5
12 Adam Schriemer 4 1 3 6 -.333 35 0 0 2 0 5 0 12 0 0 3.5
13 Branden Schmidt 4 6 1 15 .333 0 0 3 5 1 4 0 0 0 0 12.0
18 Nicholas Del bianco 4 9 0 17 .529 0 0 0 0 0 2 0 2 0 0 10.0
7 Ben Lieuwen 1 0 0 2 .000 0 0 0 0 0 0 0 0 0 1 0.0
17 Tyler Heppell 1 0 0 0 .000 0 0 1 0 0 0 0 1 0 0 1.0

Totals 34 47 16 119 .261 38 1 6 11 1 24 0 37 0 3 66.0

Set K E TA %
1 8 7 29 .034
2 14 3 29 .379
3 13 3 31 .323
4 12 3 30 .300

47 16 119 .261

1 2 3 4 Total
Tie scores 0 5 2 3 10
Lead changes 0 2 1 2 5


